There are two main types of narrative structures for teaching cases: the successive complications model and the complications added model. In the successive complications model, each question is resolved before the next is introduced. An exposition explains the conflict and builds to a question or climax, Question A. At the point of Question A, students discuss the conflicts and themes and come up with resolutions of their own. The Actual Outcome of Question A is given at the beginning of the next section. This section then builds to a different question dealing with the same situation, Question B. The students again propose resolutions, and the teaching case continues in this format until all the issues and themes in question are dealt with.
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The plot of "Romeo and Juliet" follows this model. The exposition introduces the family feud, and the love of Romeo and Juliet introduces the conflict. Question A: Does Romeo marry her or forget her? Outcome: He decides to marry her. Further exposition introduces a complication: Juliet is betrothed to another man. Question B: What will Juliet do about this betrothal? The main difference between the play and a teaching case is that here, Shakespeare has provided the conflicts and the resolutions.

In the complications added model, on the other hand, successive complications are never quite resolved. The complications accumulate, building to a single, final, climatic point (Question C below) on which most of the discussion will be centered.


